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(b) Factorise 3a’ - 6ac.
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@ On the graph paper provided on the next page, draw the region which satisfies all of the following

inequalities. T
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Make sure that you clearly indicate the region that represents your answer. i —Je i |
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On the graph paper opposite, draw the region which satisfies ail of the following inequalities.
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Make sure that you clearly indicate the region that represents your answer.
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Turn over.
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+ On the graph paper provided, draw the region which satisfies all of the following inequalities.
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Make sure that you clearly indicate the region that represents your answer.
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On the graph paper below, draw the region which satisfies all of the following inequalities.
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Make sure that you clearly indicate the region that represents your answer.
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